DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)
DIVISION

Name:

Time: Score:

181 908.6 = 0.2 =

182) —36.61 +0.05 =

183)  22.205 = 0.005 =

181 —(0.00415 = 0.002 =

185 27657 + 0.7 =

156 (0.15588 + 0.04 =

157 0.527 <+ 0.02 =

15 (0.0332 + 0.1 =

189) 38904 — 1 =

10) 44435 =5 =

91)  —1691 +- 2 =

192) —1433.2 -4 =

193) —4620 + 7 =

199 —100.08 = 0.03 =

195 —2.5776 = 0.06 =

Mathematics: Division - Level 6 - Horizontal - Set 3

196)

197)

198)

199)

200)

201)
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204)

205)
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207)

208)

209)

210)

0.9292 = 0.01 =

—1347.2 0.8 =

—0.004335 + 0.005 =

34011 +9 =

0.001754 + 0.002 =

5.2424 + 0.8 =

6081 + 1 =

3.4112 =+ 0.008 =

28974 + 0.3 =

—6.908 + 0.008 =

20520 + 3 =

5919.2 - 0.8 =

4R88.5 + 5 =

0.54408 =+~ 0.006 =

4.439 +0.01 =
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